o

A BIRE|, BAAE, H0IA T8, AY, HIA
E= MY/HIE o]0]X]|

oY

THEL:

PC/ABS

EM o2

SR A, M EIM 22 Ho| K|,

% HA2M M =2 o] x|,

Nm.

AZ=0flo| M AHz|:

JRE YU HIERI

e,

= dals 238t J82 S 2
UC-E HHE.

47t x| 27|o| CtEFt &

Mot A

7t E24 Z0{E & + &L

ToiE = EHeH RS2 2 &7|A Eulch

HIYRIE FHAMT

o|=:
-AHS R A

-
-_

02 131 {021 0K
[T 1
oo 1> 11 oo
2
£ 300
> O 0

© HEINRICH KIPP WERK GmbH & Co. KG

Ase + ALt

www.kipp.com - info@kipp.com 1/3



°
ALH XXk =ZalAEI XAQOIAI 51 RF—1L
— ] nnol.xll EEI'——II I=IOI—I JEI Aaoll nl'nél
=N
® gD
N
T m N ll
a !
3 |
2 | T ! ;
b x o = ©
VN X = ! =
- 2 ) ; L
4 , uil==
L1 B2
L2158 A
L2
D1+1,2
6)
| ~—| @™ S
m| 1) \}.
\\-
EZ= 29
FEHS Efel  =Ef Bt 2 AfA TEE M A B B1 B2 D D1 D2 H H1 H2
K1651.2102356000 A SN FZE3] FEES| 28 60 40 52 50 50 55 3541 35 4
K1651.2107356000 A =4 AHd A 28 60 40 52 50 50 55 3541 35 4
K1651.2112356000 A [SE=2N Aad A 28 60 40 52 50 50 55 3541 35 4
K1651.2117356000 A a4 r=ks] PEES 28 60 40 52 50 50 55 3541 35 4
K1651.2102356022 A 24 ElM ElM 28 60 40 52 50 50 55 3541 35 4
K1651.2107356022 A [SE=2N M Bl 28 60 40 52 50 50 55 3541 35 4
K1651.2112356022 A a4 Bl Bl 28 60 40 52 50 50 55 3541 35 4
K1651.2117356022 A 24 ElMH M 28 60 40 52 50 50 55 3541 35 4
K1651.2102356033 A =24 HIO|X| o[ X| 28 60 40 52 50 50 55 3541 35 4
K1651.2107356033 A EHaAl H|O| K| | Ol x| 28 60 40 52 50 50 55 3541 35 4
K1651.2112356033 A Eaa HlO| x| Ol X| 28 60 40 52 50 50 55 3541 35 4
K1651.2117356033 A A 0| K| IOl X| 28 60 40 52 50 50 55 3541 35 4
K1651.2102356001 A (SE=Es 444 38 EZ20o|E 28 60 40 52 50 50 55 3541 35 4
K1651.2107356001 A Eaa Aad aE Z8lole 28 60 40 52 50 50 55 3541 35 4
K1651.2112356001 A pIE=2N FEpS| 3E Z8olE 28 60 40 52 50 50 55 3541 35 4
K1651.2117356001 A EHaA 444 ag Edol= 28 60 40 52 50 50 55 3541 35 4
FEHS Etel THZ A& H3 H4 H5 H6 H7 L L1 L2 L3 F=X|HZ(N) F& & 2L ¥ S=To{FHmm) 237
F1 °C
N
K1651.2102356000 A FEES! 22 26,123392 14 42,93812,77,2 270 50  -300{[A] 60 2-7 M5X16
K1651.2107356000 A Pap S 22 26,123 39,2 14 42,93,812,77,2 270 50  -300{A1 60 7-12 M5X20
K1651.2112356000 A a4y 22 26,12339,23,84293,812,77,2 270 50  -300iA1 60 12-17 M5X16
K1651.2117356000 A a4y 22 26,12339,23,842,93,812,77,2 270 50  -300{A1 60 17-22 M5X20
K1651.2102356022 A ElM 22 26,123 39,2 14 42,93,812,77,2 270 50  -300{A1 60 2-7 M5X16
K1651.2107356022 A El M 22 26,12339,2 14 42,93,812,77,2 270 50  -300{A1 60 7-12 M5X20
K1651.2112356022 A M 22 26,123 39,23,842,93,812,77,2 270 50  -300{A1 60 12-17 M5X16
K1651.2117356022 A ElM 22 26,123 39,23,842,93,812,77,2 270 50  -300{A1 60 17-22 M5X20
K1651.2102356033 A 0| x| 22 26,12339,2 14 42,93,812,77,2 270 50  -300{A1 60 2-7 M5X16
K1651.2107356033 A |0l x| 22 26,123 39,2 14 42,93,812,77,2 270 50  -300{A1 60 7-12 M5X20
K1651.2112356033 A #HIol x| 22 26,123 39,23,842,93,812,77,2 270 50  -300{A1 60 12-17 M5X16
K1651.2117356033 A Ol x| 22 26,12339,23,84293812,77,2 270 50  -300{A1 60 17-22 M5X20
K1651.2102356001 A == ZHI0|E 22 26,1 23 39,2 14 42,93,812,77,2 270 50  -3001A{ 60 2-7 M5X16
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



ALH XXk =ZalAEI XAQOIAI o1 RF=LA
el — B — = Ol'xll EEI'——II I=I0I—I JEI Aao’r [ = = Ry |
E= 20
FEHS EtQl TAHEZEMA H3 H4 H5 H6 H7 L L1 L2 L3 F=X[=&2{N) ZZ & 2T He S=EofFH@mm) A3F
F1 °C
N
K1651.2107356001 A =& Z2I0|E 22 26,123 39,2 14 4293,812,77,2 270 50 -3001A 60 7-12 M5X20
K1651.2112356001 A 3= Z00|E 22 26,12339,23,84293,812,77,2 270 50 -300{A{ 60 12-17 M5X16
K1651.2117356001 A == Z2I0|E 22 26,123 39,23,842,93,812,77,2 270 50 -3001 A1 60 17-22 M5X20
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



